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u | = jf(gf}(x))‘??'(x)dx : Here, we put ¢(x)=t, so that ¢’(x)dx =dt

and in that case

[Flox)) g’ (x)dx = [ F(t)dt

Solution: We have

I:jxg’ sinx? dx
Let x* =t. Then

4,»:3121’)(:a'tzr»dx:i
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X
Solution: We have

sin(In x)
!:_[ -

ax

Let Inx=t.Then

X _ dt
X

=>1':jsintdt:—cost+c—cos(lnx)+c
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X +x"+1
Solution: We have

Let x? = t. Then2xdx = dt.

[_.[ A -

+x +1




u |= _[f(x)-f’(x)dx: In this case, we put f(x)=t = f’(x)dx =dt

_Evaluate jsinx . COS X dXx.

Solution: We have
| = jsinx-cosxdx

Let sinx = t. Thencos xdx = dt.

I:Jsinx-cosxdx:jtdt

t2 (s,inx)2
=l=—+c= +c
2 2

2, -1.3
x“tan”' x
_ Evaluate .‘- 6 dx.

1+ x
Solution:

/= J- x*tan”' x>

1+ x° ax

Put tan™' x> =t.Then
352
X dx =dt

1+x6




u [ = j%dx : In this case, we put f(x)=tand f’(x)dx =dt. So,
X

[ = md dt—ln(f(x))

X3

1+ x

Solution:
| = [

Put 1+ x* =t. Then = 4x°dx = dt

1+x4

1 1 1
=>I:—J—dt:—lnt+c:—ln(1+x4)+c
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Solution:

e—X
dx = j dx
1+e

-

Put 1+e * =t. Then —e *dx =dt

1+ e”*

1 _
ﬁ!:—j;dt:—lnt+c:—ln(1+e +c




sin2x

a’sin x + b% cos? x
Solution:

sin2x
I_.I. @ 2 dx

sin? x + b2 cos? x

Put a®sin’ x + b% cos® x =t. Then 5in2x(a2 —b? )dx = dt
Int +c¢

2 2

In(a sinZ x +b? cos X)+cC

w | = I(f(x))” -f’(x)dx : In this case, we put f(x)=tand

f’(x)dx = dt. So,

n+1
= [(FO0)" - F(x)dx = (PO, .
n+1
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Solution:
5

!:j(lnx)

X
dx

PutlInx=t. Then — =dt
X

t© Inx)®
:>.':Ir5dt:—+c:(nx)
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_Evaluate _[sinm X -COSx dx.

Solution:

Iz_[Sihm X -COSX dx
Put sinx =t.Then cos xdx = dt

11 S b

t sinx

:I:_[tmdt:—+c:( ) +C
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_Evaluate J-cos3x-\/2 +sin3x dx.

Solution:

I:jcos3x-~\/2+sin3x dx

Put 2+sin3x=t.Then
3cos3xdx =dt
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1 —
1¢ = 1t2 2(2+sin3x)2
:I:—jtzdt:— +c= ( )
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